

كلية المستقبل الجامعة

قسم هندسة تقنيات
الأجهزة الطبية



م.م مياسة رزاق عبد علي

الرياضيات - المرحلة الأولى

Lecture 7

- Integration of Trigonometric Functions.
- Integration of Inverse Trigonometric Functions.

Integration of Trigononmetric Functions.

$$\int \sin x \, dx = -\cos x + C$$

$$\int \cos x \, dx = \sin x + C$$

$$\int \sec^2 x \, dx = \tan x + C$$

$$\int \csc^2 x \, dx = -\cot x + C$$

$$\int \sec x \tan x \, dx = \sec x + C$$

$$\int \csc x \cot x \, dx = -\csc x + C$$

Example

$$\begin{aligned} 1. \quad \int \sin(3x^2) x \, dx &= \int \sin(3x^2) \cdot x \, dx \cdot \frac{6}{6} = \frac{1}{6} \int \sin(3x^2) \cdot 6x \, dx \\ &= \frac{-1}{6} \cos(3x^2) + C \end{aligned}$$

$$\begin{aligned} 2. \quad \int \frac{\csc^2(\sqrt{x})}{\sqrt{x}} \, dx &= \int \frac{\csc^2(\sqrt{x})}{\sqrt{x}} \, dx \cdot \frac{2}{2} = 2 \int \frac{\csc^2(\sqrt{x})}{2\sqrt{x}} \, dx \\ &= -2 \cot(\sqrt{x}) + C \end{aligned}$$

$$\begin{aligned} 3. \quad \int \cos^4(x) \sin(x) \, dx &= \int \cos^4(x) \sin(x) \, dx \cdot \frac{-1}{-1} \\ &= - \int \cos^4(x) \cdot -\sin(x) \, dx = - \frac{\cos^{4+1}(x)}{4+1} + C = - \frac{\cos^5(x)}{5} + C \end{aligned}$$

Cont'd

$$4. \quad \int \sec^4(2x) \tan(2x) dx = \int \sec^3(2x) \sec(2x) \tan(2x) dx * \frac{2}{2}$$

$$= \frac{1}{2} \int \sec^3(2x) \sec(2x) \tan(2x) 2dx = \frac{\sec^4(2x)}{4} + C$$

$$5. \quad \int \sin^2(x) dx = \int \frac{1}{2} (1 - \cos(2x)) dx = \frac{1}{2} \{ \int 1 dx - \int \cos(2x) dx \} = \frac{1}{2}$$

$$\{ x - \frac{1}{2} \sin(2x) \} + C = \frac{1}{2} x - \frac{1}{4} \sin(2x) + C$$

Example: Determine

$$1) \int \cos(3\theta - 1) d\theta$$

$$2) \int x \cdot \sin(2x^2) dx$$

$$3) \int \cos^2(2y) \cdot \sin(2y) dy$$

$$4) \int \sec^3 x \cdot \tan x dx$$

$$5) \int \sqrt{2 + \sin 3t} \cdot \cos 3t dt$$

$$6) \int \frac{d\theta}{\cos^2 \theta}$$

$$7) \int (1 - \sin^2 3t) \cdot \cos 3t dt$$

$$8) \int \tan^3(5x) \cdot \sec^2(5x) dx$$

$$9) \int \sin^4 x \cdot \cos^3 x dx$$

$$10) \int \frac{\cot^2 \sqrt{x}}{\sqrt{x}} dx$$

Solution:

$$1) \frac{1}{3} \int 3 \cos(3\theta - 1) d\theta = \frac{1}{3} \sin(3\theta - 1) + c$$

$$2) \frac{1}{4} \int 4x \cdot \sin(2x^2) dx = -\frac{1}{4} \cos(2x^2) + c$$

$$3) -\frac{1}{2} \int (\cos 2y)^2 \cdot (-2 \sin 2y dy) = -\frac{1}{2} \cdot \frac{(\cos 2y)^3}{3} + c = -\frac{1}{6} (\cos 2y)^3 + c$$

$$4) \int \sec^2 x \cdot (\sec x \cdot \tan x \cdot dx) = \frac{\sec^3 x}{3} + c$$

Cont'd

$$5) \frac{1}{3} \int (2 + \sin 3t)^{1/2} (3 \cos 3t \, dt) = \frac{1}{3} \cdot \frac{(2 + \sin 3t)^{3/2}}{3/2} + c = \frac{2}{9} \sqrt{(2 + \sin 3t)^3} + c$$

$$6) \int \frac{d\theta}{\cos^2 \theta} = \int \sec^2 \theta \cdot d\theta = \tan \theta + c$$

$$7) \int (1 - \sin^2 3t) \cdot \cos 3t \, dt = \frac{1}{3} \int 3 \cos 3t \, dt - \frac{1}{3} \int (\sin 3t)^2 \cdot 3 \cos 3t \, dt$$
$$= \frac{1}{3} \sin 3t - \frac{1}{3} \cdot \frac{\sin^3 3t}{3} + c = \frac{1}{3} \sin 3t - \frac{1}{9} \sin^3 3t + c$$

$$8) \frac{1}{5} \int \tan^3 5x \cdot (5 \sec^2 5x \, dx) = \frac{1}{5} \cdot \frac{\tan^4 5x}{4} + c = \frac{1}{20} \tan^4 5x + c$$

$$9) \int \sin^4 x \cdot \cos^3 x \, dx = \int \sin^4 x \cdot (1 - \sin^2 x) \cdot \cos x \, dx$$
$$= \int \sin^4 x \cdot \cos x \, dx - \int \sin^6 x \cdot \cos x \, dx = \frac{\sin^5 x}{5} - \frac{\sin^7 x}{7} + c$$

Cont'd

$$\begin{aligned} 10) \int \frac{\cot^2 \sqrt{x}}{\sqrt{x}} dx &= \int \frac{\csc^2 \sqrt{x} - 1}{\sqrt{x}} dx = 2 \int \frac{\csc^2 \sqrt{x}}{2\sqrt{x}} - \int x^{-1/2} dx \\ &= 2(-\cot \sqrt{x}) - \frac{x^{1/2}}{1/2} + c = -2 \cot \sqrt{x} - 2\sqrt{x} + c \end{aligned}$$

Home Work

$$\int \cos^2(x) dx$$

$$\int 4 \cos 3x dx$$

$$\int 7 \sec^2 4t dt$$

$$\int \frac{4}{3} \sec 4t \tan 4t dt$$

$$\int e^x \cdot \sin e^x dx$$

$$\int \frac{\sin(\ln x)}{x} dx$$

$$\int \cot(2x + 1) \cdot \csc^2(2x + 1) dx$$

Integration of Inverse Trigonometric Functions.

$$\int \frac{du}{\sqrt{a^2 - u^2}} = \sin^{-1} \frac{u}{a} + c = -\cos^{-1} \frac{u}{a} + c \quad ; \quad \forall u^2 < a^2$$

$$\int \frac{du}{a^2 + u^2} = \frac{1}{a} \tan^{-1} \frac{u}{a} + c = -\frac{1}{a} \cot^{-1} \frac{u}{a} + c$$

$$\int \frac{du}{u\sqrt{u^2 - a^2}} = \frac{1}{a} \sec^{-1} \left| \frac{u}{a} \right| + c = -\frac{1}{a} \csc^{-1} \left| \frac{u}{a} \right| + c \quad ; \quad \forall u^2 > a^2$$

Example

$$1) \int \frac{dx}{\sqrt{9-x^2}} = \sin^{-1} \frac{x}{3} + c$$

$$2) \int \frac{x^2}{\sqrt{1-x^6}} dx = \frac{1}{3} \int \frac{1}{\sqrt{1-(x^3)^2}} (3x^2 dx) = \frac{1}{3} \sin^{-1} x^3 + c$$

$$3) \int \frac{\sec^2 x}{\sqrt{1-\tan^2 x}} dx = \sin^{-1}(\tan x) + c$$

$$4) \int \frac{1}{5+x^2} dx = \int \frac{1}{(\sqrt{5})^2+x^2} dx \\ = \frac{1}{\sqrt{5}} \tan^{-1}\left(\frac{x}{\sqrt{5}}\right) + c$$

$$5) \int \frac{1}{\sqrt{x^2(x^2-\frac{36}{25})}} dx = \int \frac{1}{|x|\sqrt{x^2-(\frac{6}{5})^2}} dx = \frac{1}{6/5} \sec^{-1}\left(\frac{x}{6/5}\right) + c \\ = \frac{5}{6} \sec^{-1}\left(\frac{5x}{6}\right) + c$$

Home Work

Find the following integration:

$$1. \int \frac{1}{1+\theta^2} d\theta$$

$$2. \int \frac{dx}{\sqrt{16-x^2}}$$

$$3. \int \frac{1}{49+x^2} dx$$

$$4. \int \frac{dt}{0.25+t^2}$$

$$5. \int \frac{du}{\sqrt{u^2(u^2-1)}}$$

$$6. \int \frac{1}{|x|\sqrt{x^2-41}} dx$$

$$7. \int \frac{1}{\sqrt{\frac{81}{100}-x^2}} dx$$

$$8. \int \frac{1}{\pi^2+x^2} dx$$

$$9. \int \frac{1}{\sqrt{t^2(t^2-\frac{1}{4})}} dx$$

$$10. \int \frac{1}{|x|\sqrt{x^2-7}} dx$$

Thank You